7.2.3 “PRIERBT



£557.2 iSRS R

BT %R — 500002 %2 FH

o B K L = 91.50m
Gt 7 B =15.80m
it AN D = 7.40m
w1t iz K d= 5.90m
I R C,=0.762
I\ B [|] FR S=0.7m

723  FREE¥

B
2

&
%.?_-E



£557.2 iSRS R

E5E I BT B -

RIEAES57.2.04807.2. 2% 1145 R

FE AR E B 10mm

AAEF VTS
i e T AR B B RGT

723  CPREEWRIT



1£557.2 BT IMRE B

BRSO A= 1 AN REVR G R

JB /5

o B b L HLTE R S /N T AR SEFEE I 2 a3 (Y352 , AR T B B

b B AE B AR A AL T BN N T4 T 20 B Z (H

b=900+3.5L (mm)

(9-13)

J_;ﬁﬁh L ﬂﬁﬁ‘.mmu
A e B i R AR T 1 800 mm,
/gﬁﬁﬁﬁ:
N JEAR B B 10mm
A

723  CPREEWRIT

S HEY12mm



n 7.2 BHAMRS BR

YRS AR R — 50000 25 22 F 4

3R
Ba

i ®E K L =91.50m
i T B=15.80m
it iR D=7.40m
w1t iz K d= 5.90m
FH¥FEE C,=0.762m
HEMEE  S=0.7m

723  FREEEIT



£557.2 iSRS R s

|

PR E PR EE W BE

SR #R BT E G N T ARG EE N 2 mm, [ RLE , AR B R S0
b BAEREAMHAS N IRFFAAE , i ELM AT T2t B G 2 (8
< b=900+43.5L (mm) > (9-13)
A LI, m,
PRI I B AR T 1800 mm,

i P E - L =91.5m
b=900+3.5%x91.5=1220.25

AR S AL 7 % HE O B
723 PREERT

||




£557.2 i SMRE R

¥ iHREARE R — 5000 27 2 FH 5

T E K L =91.50m
Al = B=15.80m
i, = D=7.40m
W 1T iz 7K d= 5.90m
5 EH  C,=0.762m
HEMHEE — S=07m

723  CPREEWRIT

ol



£%7.2 MRS iR

LT

oJ /00 | /00

1400
CL

!

AR E b
<1300
519 >1500

PR B B H1250mm

723 CPERIBERI




N2 YO &



